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@ (x+5)*=60

@ (x+7)*—24=0

® (x—8)*—12=0

@ (x+9)*=8

® (x—3)*—-36=0

® (x+2)2=44

@ (x+3)*—48=0

(x—7)*=10

© (x—1)*=49

(x—6)2—1=0

@ (x—5)2=30

® (x+4)?—52=0

@ (x—9)*=16

(x+6)*—81=0

® (x—4)*=28

(x—2)2—4=0

@ (x+1)*—38=0

@® (x+8)*=53
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@ (x+5)2=60 @ (x+3)*—48=0 ® (x—9)*=16
x+5=+2415 (x+3)2=48 x—9==+4
x+3=2443 x=9+4
x= —5+2415| x=—3%443
@ (x+7)2—24=0 ® (x—7)2=10 @ (x+6)2—81=0
(x+7)2=24 x—7==%410 (x+6)2=81
x+7=%26 x+6==*9
x=—6%9
x=—7+246 x=T7+10
@ (x—8)*—12=0 ® (x—1)2=49 ® (x—4)*=28
(x—8)2=12 x—1=%£7 x—4==+24T7
x—8=+243 x=1+%7
x=8%243 x= —6,8
@ (x+9)2=8 © (x—6)?—1=0 1 (x—2)2—4=0
x+9==+242 (x—6)2=1 (x—2)2=4
x—6==*1 x—2=%2
x=6t1 x=2%2
x=—9%242 x= 57
® (x—3)?—36=0 ) (x—5)2=30 @ (x+1)2—38=0
(x—3)2=36 x—5=%430 (x+1)2=38
x—3=1%*6 x+1=+438
x=31t6
x= —3,9 x=5+430
® (x+2)?=44 ® (x+4)?—52=0 ® (x+8)?=53
x+2=x211 (x+4)2=52 x+8=+453
x+4=+2J13
x=—2%2411] x= —4+2413

/18
x= 5,13
x= —15,3
x=4+2J7
x= 0,4
x=—1%438




